	HOWARD BEND LEVEE DISTRICT													
	2020 LEVEE TAX BOOK (LOCATOR #)	ı		· · · · · · · · · · · · · · · · · · ·				+	· ·	+ <u> </u>	<u> </u>	<u> </u>	<u> </u>	
	'		′	′				′	′				0.002949	
LOCATOR #	PROPERTY OWNER	C/O	2020 Acres Assessed	s Levee Assessment Commissioners Notes	s 2020 Levee Assessed Benefits	e 2020 Levee Installment Assessment Tax Book	2020 Maintenance Assessment Tax Book			2020 Sewer & Water Installment Assessmenet	2013 Storm Water Commissioners Notes		2020 Storm Water Pump Station Installment Assessment	
12P410030	METROPOLITAN ST LOUIS SEWER DISTRICT			3 2018 CR, Value per Cooperation Agreement dated 8/8/2015. \$13,836,404.	\$13,836,404	4 \$349,038.10		76 24.76 acres @ 21,000 (Ortmann sale).	\$520,133	\$8,175.98	8 79.50 acres @ 33,973 per acre=2,700,853.	\$2,700,853	3 \$7,966.99	9 \$442,892.82
12Q210024	MOORE ALICE ANEUSER BEIMS #2 TRUST		78.860	0 2003 CR, \$25,000/acre x 78.86 x .2.	\$394,300	0 \$9,946.64		 78.86 acres @ 7,000= 552,020; 78.86 acres @ 14,000= 1,104,040. Total 1,656,060. 			5 78.86 acres @ 11,340 per acre=894,272.	\$894,262	2 \$2,638.64	4 \$40,831.50
12Q220016	DUSSAULT, STEPHEN G & LINDA D H/W		5.000	0 2003 CR, \$25,000/acre x 5 x .2.	\$25,000	0 \$630.65		11 5 acres @ 7,000=35,000; 5 acres @ 14,000=70,000. Total 105,000.	\$105,000 s	\$1,650.50	0 5 acres @ 15,407=77,034.	\$77,034	4 \$227.24	4 \$2,648.80
12Q230026	MOORE ALICE ANHEUSER BEIMS #2 TRUST			0 2003 CR, \$25,000/acre x 102.64 acres taxed x .2.	\$513,200	0 \$12,946.02		 37 102.64 acres @ 7,000=718,480; 102.64 acres @ 14,000=1,436,960. Total 2,155,440. 	\$2,155,440	\$33,881.42	2 102.64 acres @ 10,354 per acre=1,062,759.	\$1,062,759	9 \$3,134.93	3 \$52,844.74
12Q240036	DUSSAULT, STEPHEN G & LINDA D H/W		17.810	0 2003 CR, \$25,000/acre x 17.81 x .2	\$89,050	0 \$2,246.38		 17.81 acres @ 7,000=124,670; 17.81 acres @ 14,000=249,340. Total 374,010. 	\$374,010	\$5,879.07	7 17.81 acres @ 12,259=218,341.	\$218,341	1 \$644.06	6 \$9,269.66
12Q240045	MARYLAND HEIGHTS CITY OF			0 2003 CR, Soccer Park, \$4,00,000 AB plus \$30,000/acre x 70.20 acres taxed = 6,106,000 x .4.	\$2,442,400	0 \$61,612.15	5 \$13,717.67	57 Soccer Fields. (50% sewer) 70.20 acres 7,000–491,400; and (25% water) 70.20 acres @ 1,750=122,850: 614250.	\$614,250	\$9,655.41	1 70.20 acres @ 12,689=890,773.	\$890,773	3 \$2,627.61	1 \$87,612.84
12Q310061	DUSSAULT, STEPHEN G & LINDA D H/W			0 2003 CR, \$25,000/acre x 1.38 + 265,000 = 299,500 x .3.	= \$89,850	0 \$2,266.56	\$504.64	 House. Water 1.38 acres @ 7,000= 9,660. Sewer- 0 acres. 	\$9,660	\$151.85	5 1.38 acres @ 7,814=10,784	\$10,784	4 \$31.81	1 \$2,954.86
12Q310083	DUSSAULT, STEPHEN G LINDA D H/W	RT 4	0.080	0 2003 CR, Not taxed.		\$0.00		00 .08 acres @ 7,000= 560; .08 acres. @ 14,000=1,120. Total 1,680.	\$1,680	\$26.41	1 0.08 acres @ 7,763=621.	\$621	1 \$1.83	3 \$28.24
12Q320042	KBG INC			6 2008 Tax Book, no improvements, use 5,976.63/acre for AB.	\$534,561	1 \$12,755.98		4 21,000 per county original acreage.	\$1,970,687	\$30,977.28	8 89.45 acres @ 35,042=3,134,349.	\$3,134,349	9 \$9,245.72	2 \$55,981.33
12Q610020	ORTMANN FARM LLC			0 2010 Tax. Assess only 95.77 acres @ \$25,000/acre = 2,394,250 x .2 = \$478.850.	\$478,850	0 \$12,079.50		I5 99.232 acres per G.Stock @ 7,000= 694,624; 99.232 acres @ 14,000=1,389,248. Use 2,083,867.		\$32,756.36	6 95.77 acres @ 20,964=2,007,760.	\$2,007,760	0 \$5,922.50	0 \$53,447.81

	HOWARD BEND LEVEE DISTRICT	1		1	T	1	T	1		1	T		1	
	2020 LEVEE TAX BOOK (LOCATOR #)			· · · · · · · · · · · · · · · · · · ·		<u> </u>		<u> </u>		<u> </u>				
				· · · · · · · · · · · · · · · · · · ·				· ′					0.002949	
LOCATOR #	PROPERTY OWNER	c/0	2020 Acres Assessed	es Levee Assessment Commissioners Notes	s 2020 Levee Assessed Benefits	e 2020 Levee Installment Assessment Tax Book	2020 Maintenance x Assessment Tax Book			2020 Sewer & Water Installment Assessmenet	2013 Storm Water Commissioners Notes	r 2020 Storm Water Pump Station Assessed Benefits		
13Q210023	MOORE ALICE ANHEUSER BEIMS #2 TRUST		0.710	0 2003 CR, \$25,000/acre x .71 x .2.	\$3,550	0 \$89.55	\$19.94	04 0.71 acres @ 7,000= 4,970; 0.71 acres @ 14,000=9,940. Total 14,910.	\$14,910	\$234.37	0.71 acres @9,083=6,449.	\$6,449	\$19.02	2 \$362.88
13Q210032	CREVE COEUR AIRPORT IMPROVEMENT CORP		7.400	0 2003 CR, \$30,000/acre x 7.40 x .2.	\$44,400	0 \$1,120.04	\$249.37	37 Airport runway- partial, 6.12 acres exempt. 0.3066052 spread to hangar owners.	\$6,213	\$97.66	66 7.40 acres @ 4,000=29,600.	\$29,600)0 \$87.31	1 \$1,554.38
13Q210041	FORTUNE, JAMES S JR		10.720	10 2003 CR, \$30,000/acre x 10.72 x .2	\$64,320	0 \$1,622.54	\$361.25	25 10.72 acres @ 7,000=75,040; 10.72 acres @ 14,000=150,080. Total 225,120.	\$225,120	\$3,538.67	57 10.72 acres @ 10,485=112,395.	\$112,395	95 \$331.54	4 \$5,854.00
13Q210050	CREVE COEUR AIRPORT IMPROVEMENT CORP		7.190	0 2003 CR, \$30,000/acre x 7.19 x .2.	\$43,140	0 \$1,088.25	\$242.29	29 0.3066052 spread to hangar owners	\$34,899	\$548.58	58 7.19 acres @ 4,000=28,760.	\$28,760	50 \$84.84	4 \$1,963.97
13Q220042	STOLTE, BETTY ANN TRUSTEE		26.050	0 2003 CR, \$30,000/acre x 26.05 x .2	\$156,300	0 \$3,942.83	\$877.85	25 26.05 acres @ 7,000=182,350; 26.05 acres @ 14,000=364,700. Total 547,050.		\$8,599.09	09 26.05 acres @24,960=650,198.	\$650,198	\$1,917.96	6 \$15,337.74
13Q220051	HENRAY PARTNERSHIP THE			0 2003 Tax Book, Adjusted CR settlement of \$131,566 divided by acreage of 15.36 = 8,565/acre.		0 \$3,193.37	\$710.99	14.78 acres @ 7,000=103,460; 14.78 acres @ 14,000=206,920. Total 310,380.		\$4,878.87	37 14.78 acres @17,969=265,576.	\$265,576	76 \$783.40	0 \$9,566.63
13Q230025	CREVE COEUR AIRPORT IMPROVEMENT CORP			0 2003 CR, Runway 30% of \$4 mil = \$1,200,000 × 50% = 600,000 + \$30,000/acre × 10.87 = 326,100 + 600,000 = 926,100 × .2 = 185,220.	\$185,220	0 \$4,672.37	\$1,040.28	28 Airport runway- partial, 6.12 acres exempt. 0.3066052 spread to hangar owners.	\$23,055	\$362.40	40 10.87 acres @4,000=43,480.	\$43,480	30 \$128.26	6 \$6,203.32
13Q230034	COURNOYER, JOHN JAMES LIVING TRUST	C/O CREVE COEUR AIRPORT IMPROVEMENT CORP	14.250	0 2003 CR, \$30,000/acre x 14.25 x .2.	\$85,500	0 \$2,156.83	\$480.21	21 14.25 acres @7,000=99,750; 14.25 acres @ 14,000=199,500. Total 299,250.	\$299,250	\$4,703.92	02 14.25 acres @ 8,579=122,250	\$122,250	50 \$360.61	1 \$7,701.57
13Q240017	FORTUNE, JAMES S JR			0 2018 CR, Agreement \$30,000/acre x 7 = \$210,000. (3 acres @ .3 (\$27,000) 4 acres @ .4 (\$48,000) = \$75,000. (Takes into consideration the loss of home).		0 \$1,891.96	\$421.24	 House. Water 7 acres Ø 7,000=49,000; Sewer 4 acres Ø 14,000= 56,000. Total 105,000 		0 \$1,650.50	50 7 acres @20,134=140,939.	\$140,939	\$415.74	4 \$4,379.43
13Q240026	HENRAY PARTNERSHIP THE			0 2003; \$50,000/acre x 3 + 45,000 imp x. 3 = 58,500 plus \$50,000/acre x 121.46 x. 2 = 1,214,600 + 58,500 = 1,273,100. Adjusted as per settlement to CR \$942,524 . 942,524 + 53,000 imps = 897,524/124.43 acres = 7,213/acre.		4 \$5,298.58	\$1,179.71	71 29.12 acres @ 7,000 =203,840.; 29.12 @ 14,000=407,680. Total 611,520.	\$611,520 al		50 29.12 acres @ 17,438=507,788.	\$507,788	\$1,497.88	8 \$17,588.67

	HOWARD BEND LEVEE DISTRICT	I	· · · · · · · · · · · · · · · · · · ·	· · · · · · · · · · · · · · · · · · ·				· · · · · · · · · · · · · · · · · · ·	· · · · · · · · · · · · · · · · · · ·					· · · · · · · · · · · · · · · · · · ·
	2020 LEVEE TAX BOOK (LOCATOR #)	4	'	·										<u>, </u>
LOCATOR #	PROPERTY OWNER	c/o	2020 Acres Assessed	s Levee Assessment Commissioners Notes	s 2020 Levee Assessed Benefits	ee 2020 Levee Installment Assessment Tax Book	2020 Maintenance Assessment Tax Book	2007 Sewer & Water Commissioners Notes x		2020 Sewer & Water Installment Assessmenet		r 2020 Storm Water Pump Station Assessed Benefits		
13Q310051	HENRAY PARTNERSHIP THE			0 2003, \$50,000/acre x 3 + 45,000 imp x.3 = 58,500 plus \$50,000/acre x 121.46 x .2 = 1,214,600 + 58,500 = 1,273,100. Adjusted as per settlement to CR \$942,524. 942,524-45,000 imps = 897,524/124.43 acres = 7,213/acre.		\$516.78	\$115.06	06 2.84 acres @ 7,000= 19,800; 2.84 acres @ 14,000= 39,760. Total 59.640.		\$937.48	 8 2.84 acres @18,137=51,508. 	\$51,508	\$151.94	4 \$1,721.26
13Q310062	HENRAY PARTNERSHIP THE			0 2003, \$50,000/acre x 3 + 45,000 imp x .3 = 58,500 plus \$50,000/acre x 121.46 x .2 = 1,214,600 + 58,500 = 1,273,100. Adjusted as per settlement to CR \$942,524 . 942,524 + 45,000 imps = 897,524/124.43 acres = 7,213/acre plus imps of 45,000	2			3 37.70 acres @ 7,000= 263,900; 37.70 acres @ 14,000= 527,800. Total 791,700.			75 37.70 acres @18,075= 681,414			
13Q310073	HENRAY PARTNERSHIP	C/O THE AMO GEN PTNSP		0 2006 CR, new #. Approx. \$50,000/acre. Use AB 148,862	\$148,862	\$3,755.20	\$836.08	8 20.5 acres assessed use 433,064.	\$433,064	\$6,807.34	34 20.50 acres @17,788=364,662	\$364,662	52 \$1,075.68	8 \$12,474.30
13Q330024	HENRAY PARTNERSHIP THE			0 0 20203, \$50,000/acre x 3 + 45,000 imp x . 3 = 58,500 plus \$50,000/acre x 121.46 x . 2 = 1,214,600 + 58,500 = 1,273,100. Adjusted as per settlement to CR \$942,524 . 942,524 + 50,000 imps = 897,524/124.43 acres = 7,213/acre		\$1,468.41	\$326.93	 House. Part of large parcel, normal benefits. 8.070 @ 7,000 = 56,490; 8.070 @ 14,000 = 112,980. Total 169,470. 	\$169,470	\$2,663.90	00 8.07 acres @18,774 151,503	4 \$151,503	3 \$446.90	0 \$4,906.14
13Q330033	HENRAY PARTNERSHIP	C/O THE AMO GEN PTNSP		0 2006 CR, new #. Approx \$50,000/acre. Use AB 167,866	\$167,866	i6 \$4,234.60	\$942.81	1 23.15 acres assessed. Use Total 489,046.	. \$489,046	\$7,687.33	33 23.15 acres @ 18,097=418,954.	\$418,954	54 \$1,235.83	\$14,100.57
13Q340016	PMG FARMS LLC	C/O MARK W LITZINGER	17.840	0 2003 CR, \$35,000/acre x 17.84 x .2	\$124,880	\$3,150.23	\$701.38	 17.84 acres @ 7,000=124,880; 17.84 acres @ 14,000=249,760. Total 374,640. 			8 17.84 acres @ 43,497=775,983.	\$775,983	\$2,289.00	0 \$12,029.60
13Q420022	CREVE COEUR AIRPORT IMPROVEMENT CORP		91.870	0 2003 CR, \$30,000/acre x 91.87 x .2	\$551,220	\$13,905.11	\$3,095.91	11 Airport runways, grass, and concrete- partial, 25.25 acres exempt. 0.3066052 spread to hangar owners.	\$323,358	\$5,082.87	37 91.87 acres @ 4,000=367,480.	\$367,480	\$1,083.99	9 \$23,167.89
13Q510031	STIX, ALBERT I III REVOCABLE LIVING TRUST ET AL			0 2018 CR to remain the same as 2003 CR, \$30,000/acre x 15.04 x .4	, \$180,480	\$4,552.80	\$1,013.66	6 0.3066052 spread to hangar owners. 7.52 acres serviced by sewer.		\$2,802.40	40 15.054 acres @ 4,000= 60,160.	\$60,160	50 \$177.46	6 \$8,546.32
13Q510086	CREVE COEUR AIRPORT	ROSANSKY, HARRY (LESSEE)		0 2003 CR, 2,500 sf x \$25 x (1-age/40 (.55)) x.4 = 13,750 plus 4,124 for runways (20,619 x.2) & 1,353 for terminal (3,382 x.4) = 19,227		\$485.02	\$107.99	9 Water benefits only. 2,500 s.f @ 1.25=3,125.	\$3,125		12 2,500 s.f @ 2.50=6,250.	\$6,250	518.44	4 \$660.57
13Q510097		ZIMMER, SCOTT (LESSEE) Prepaid 2017A		0 2003 CR, 2,500 sf x \$25 x (1-age/40 (.55)) x.4 = 13,750 plus 4,124 for runways (20,619 x.2) & 1,353 for terminal (3,382 x.4) = 19,227		\$485.02	\$107.99	 Water benefits only. 2,500 s.f @ 1.25=3,125. Prepaid. 	\$0		2,500 s.f @ 2.50=6,250.	\$6,250	\$18.44	\$611.45

	HOWARD BEND LEVEE DISTRICT		'	· · · · · · · · · · · · · · · · · · ·										
	2020 LEVEE TAX BOOK (LOCATOR #)	<u> </u>	- - '		<u> </u>		<u> </u>						2.002040	'
LOCATOR #	PROPERTY OWNER	C/0	2020 Acres Assessed	ss Levee Assessment Commissioners Notes	es 2020 Levee Assessed Benefits	e 2020 Levee Installment Assessment Tax Book	2020 Maintenance Assessment Tax Book	2007 Sewer & Water Commissioners Notes X		2020 Sewer & Water Installment Assessmenet				
13Q510103	CREVE COEUR AIRPORT IMPROVEMENT CORP	HAWKINS, ARTHUR W (LESSEE)		0 2003 CR, 2,500 sf x \$25 x (1-age/40 (.55)) x .4 = 13,750 plus 4,124 for runways (20,619 x .2) & 1,353 for terminal (3,382 x .4) = 19,227		\$485.02	\$107.99	99 Water benefits only. 2,500 s.f @ 1.25=3,125.	\$3,125	\$49.12	12 2,500 s.f @ 2.50=6,250.	\$6,250	50 \$18.44	4 \$660.57
13Q510112	CREVE COEUR AIRPORT IMPROVEMENT CORP	REMPALA, JILL (LESSEE)		0 2003 CR, 2,500 sf x \$25 x (1-age/40 (.55)) x .4 = 13,750 plus 4,124 for runways (20,619 x .2) & 1,353 for terminal (3,382 x .4) = 19,227		\$485.02	\$107.99	 Water benefits only. 2,500 s.f @ 1.25=3,125. 	\$3,125	\$49.12	12 2,500 s.f @ 2.50=6,250.	\$6,250	50 \$18.44	14 \$660.57
13Q510121	CREVE COEUR AIRPORT IMPROVEMENT CORP	MUELLER, DAN (LESSEE)		0 2003 CR, 2,500 sf x \$25 x (1-age/40 (.55)) x .4 = 13,750 plus 4,124 for runways (20,619 x .2) & 1,353 for terminal (3,382 x .4) = 19,227		\$485.02	\$107.99	 Water benefits only. 2,500 s.f @ 1.25=3,125. 	\$3,125	\$49.12	12 2,500 s.f @ 2.50=6,250.	\$6,250	50 \$18.44	14 \$660.57
13Q510130	CREVE COEUR AIRPORT IMPROVEMENT CORP	CLARK, C KENT (LESSEE)		0 2003 CR, 2,150 sf x \$25 x (1-age/40 (.55)) x.4 = 11,825 plus 4,124 for runways (20,619 x.2) & 1,353 for terminal (3,382 x.4) = 14,602		\$368.35	\$82.01	11 Water benefits only. 2,100 s.f @ 1.25=2,625.	\$2,625	\$41.26	26 2,100 s.f @ 2.50=5,375.	\$5,375	\$15.86	36 \$507.48
13Q510141	CREVE COEUR AIRPORT IMPROVEMENT CORP	BLEU FLUID ENTERPRISES (LESSEE)		0 2003 CR, 2,150 sf x \$25 x (1-age/40 (.55)) x.4 = 11,825 plus 4,124 for runways (20,619 x.2) & 1,353 for terminal (3,382 x.4) = 14,602		\$368.35	\$82.01	11 Water benefits only. 2,200 s.f @ 1.25=2,625.	\$2,625	\$41.26	26 2,100 s.f @ 2.50=5,375.	\$5,375	\$15.86	\$507.48
13Q510152	CREVE COEUR AIRPORT IMPROVEMENT CORP	SOMMER, WILLIAM A (LESSEE)		0 2003 CR, 2,150 sf x \$25 x (1-age/40 (.55)) x.4 = 11,825 plus 4,124 for runways (20,619 x.2) & 1,353 for terminal (3,382 x.4) = 14,602		\$368.35	\$82.01	11 Water benefits only. 2,200 s.f @ 1.25=2,625.	\$2,625	\$41.26	26 2,100 s.f @ 2.50=5,375.	\$5,375	\$15.86	\$507.48
13Q510163	CREVE COEUR AIRPORT IMPROVEMENT CORP	CCAIC		0 2003 CR, 2,500 sf x \$25 x (1-age/40 (.55)) x .4 = 13,750 plus 4,124 for runways (20,619 x .2) & 1,353 for terminal (3,382 x .4) = 19,227		\$485.02	\$107.99	99 Water benefits only. 2,500 s.f @ 1.25=3,125.	\$3,125	\$49.12	12 2,500 s.f @ 2.50=6,250.	\$6,250	\$18.44	\$660.57
13Q510174	CREVE COEUR AIRPORT IMPROVEMENT CORP	BRIEM, JAMES J (LESSEE)		0 2003 CR, 2,500 sf x \$25 x (1-age/40 (.55)) x .4 = 13,750 plus 4,124 for runways (20,619 x .2) & 1,353 for terminal (3,382 x .4) = 19,227		\$485.02	\$107.99	99 Water benefits only. 2,500 s.f @ 1.25=3,125.	\$3,125	\$49.12	12 2,500 s.f @ 2.50=6,250. Prepaid	\$6,250	\$0.00	\$642.13
13Q510185	CREVE COEUR AIRPORT IMPROVEMENT CORP	ROSA, JOSEPH (LESSEE)		0 2003 CR, 1,428 sf x \$25 x (1-age/40 (.55)) x.4 plus = 7,854 plus 4,124 for runways (20,619 x.2) & 1,353 for terminal (3,382 x.4) = 13,331		\$336.29	\$74.87	 Water benefits only. 1,428 s.f @ 1.25=1,785. 	\$1,785	\$28.06	06 1,428 s.f @ 2.50=3,570.	\$3,570	70 \$10.53	\$449.75
13Q510196	CREVE COEUR AIRPORT IMPROVEMENT CORP	PORTFIELD PROPERTIES LLC (LESSEE)		0 2003 CR, 1,428 sf x \$25 x (1-age/40 (.55)) x.4 plus = 7,854 plus 4,124 for runways (20,619 x.2) & 1,353 for terminal (3,382 x.4) = 13,331		\$336.29	\$74.87	 Water benefits only. 1,428 s.f @ 1.25=1,785. 	\$1,785	\$28.06	06 1,428 s.f @ 2.50=3,570.	\$3,570	70 \$10.53	\$449.75
13Q510204	CREVE COEUR AIRPORT IMPROVEMENT CORP	HOUSEMAN, DAN (LESSEE)		0 2003 CR, 1,428 sf x \$25 x (1-age/40 (.55)) x. 4 plus = 7,854 plus 4,124 for runways (20,619 x.2) & 1,353 for terminal (3,382 x.4) = 13,331		\$336.29	\$74.87	 Water benefits only. 1,428 s.f @ 1.25=1,785. 	\$1,785	\$28.0¢	06 1,428 s.f @ 2.50=3,570.	\$3,570	70 \$10.53	\$449.75

	HOWARD BEND LEVEE DISTRICT													
	2020 LEVEE TAX BOOK (LOCATOR #)	4'	'						'				2 000040	<u> </u>
LOCATOR #	PROPERTY OWNER	c/o	2020 Acres Assessed	s Levee Assessment Commissioners Notes	is 2020 Levee Assessed Benefits	ee 2020 Levee Installment Assessment Tax Book	2020 Maintenance Assessment Tax Book			2020 Sewer & Water Installment Assessmenet				
13Q510213	CREVE COEUR AIRPORT IMPROVEMENT CORP	MILLER, MAUREEN E (LESSEE)		0 2003 CR, 1,428 sf x \$25 x (1-age/40 (.55)) x .4 plus = 7,854 plus 4,124 for runways (20,619 x .2) & 1,353 for terminal (3,382 x .4) = 13,331		\$336.29	\$74.87	87 Water benefits only. 1,428 s.f @ 1.25=1,785.	\$1,785	\$28.06	06 1,428 s.f @ 2.50=3,570.	\$3,570	\$10.53	3 \$449.75
13Q510222	CREVE COEUR AIRPORT IMPROVEMENT CORP	KELLY, DENNIS J (LESSEE)		0 2003 CR, 1,428 sf x \$25 x (1-age/40 (.55)) x .4 plus = 7,854 plus 4,124 for runways (20,619 x .2) & 1,353 for terminal (3,382 x .4) = 13,331		\$336.29	\$74.87	 Water benefits only. 1,428 s.f @ 1.25=1,785. 	\$1,785	\$28.06	06 1,428 s.f @ 2.50=3,570.	\$3,570	\$10.53	3 \$449.75
13Q510231	CREVE COEUR AIRPORT IMPROVEMENT CORP	MAGOS, RON (LESSEE)		0 2003 CR, 1,428 sf x \$25 x (1-age/40 (.55)) x .4 plus = 7,854 plus 4,124 for runways (20,619 x .2) & 1,353 for terminal (3,382 x .4) = 13,331		\$336.29	\$74.87	 Water benefits only. 1,428 s.f @ 1.25=1,785. 	\$1,785	\$28.06	06 1,428 s.f @ 2.50=3,570.	\$3,570	\$10.53	3 \$449.75
13Q510240	CREVE COEUR AIRPORT IMPROVEMENT CORP	HENRY, R G (LESSEE)		0 2003 CR, 1,428 sf x \$25 x (1-age/40 (.55)) x .4 plus = 7,854 plus 4,124 for runways (20,619 x .2) & 1,353 for terminal (3,382 x .4) = 13,331		\$336.29	\$74.87	37 Water benefits only. 1,428 s.f @ 1.25=1,785.	\$1,785		06 1,428 s.f @ 2.50=3,570.	\$3,570	\$10.53	3 \$449.75
13Q510251	CREVE COEUR AIRPORT IMPROVEMENT CORP	C-8 HOLDINGS LLC (LESSEE) Prepaid 2017A		0 2003 CR, 1,428 sf x \$25 x (1-age/40 (.55)) x .4 plus = 7,854 plus 4,124 for runways (20,619 x .2) & 1,353 for terminal (3,382 x .4) = 13,331		\$336.29	\$74.87	 Water benefits only. 1,428 s.f @ 1.25=1,785. Prepaid. 	\$0	\$0.00	00 1,428 s.f @ 2.50=3,570.	\$3,570	\$10.53	3 \$421.69
13Q510262	CREVE COEUR AIRPORT IMPROVEMENT CORP	NEUROTH, K (LESSEE)		0 2003 CR, 1,428 sf x \$25 x (1-age/40 (.55)) x .4 plus = 7,854 plus 4,124 for runways (20,619 x .2) & 1,353 for terminal (3,382 x .4) = 13,331		\$336.29	\$74.87	 Water benefits only. 1,428 s.f @ 1.25=1,785. 	\$1,785	\$28.06	06 1,428 s.f @ 2.50=3,570.	\$3,570	\$10.53	3 \$449.75
13Q510273	CREVE COEUR AIRPORT IMPROVEMENT CORP	CADANAU, RODNEY (LESSEE)		0 2003 CR, 1,428 sf x \$25 x (1-age/40 (.55)) x. 4 plus = 7,854 plus 4,124 for runways (20,619 x. 2) & 1,353 for terminal (3,382 x. 4) = 13,331		\$336.29	\$74.87	 Water benefits only. 1,428 s.f @ 1.25=1,785. 	\$1,785	\$28.06	06 1,428 s.f @ 2.50=3,570.	\$3,570	70 \$10.53	3 \$449.75
13Q510284	CREVE COEUR AIRPORT IMPROVEMENT CORP	GARDNER (LESSEE)		0 2003 CR, 2,500 sf x \$25 x (1-age/40 (.57)) x. 4 = 14,250 plus 4,124 for runways (20,619 x. 2) & 1,353 for terminal (3,382 x. 4) = 19,727		\$497.63	\$110.80	30 Water benefits only. 2,500 s.f @ 1.25=3,125.	\$3,125	\$49.12	12 2,500 s.f @ 2.50=6,250.	\$6,250	\$18.44	4 \$675.99
13Q510295	CREVE COEUR AIRPORT IMPROVEMENT CORP			0 2003 CR, 3,000 sf x \$25 x (1-age/40 (.57)) x. 4 = 17,100 plus 4,124 for runways (20,619 x. 2) & 1,353 for terminal (3,382 x. 4) = 22,577		\$569.53	\$126.80	30 Water benefits only. 3,000 s.f @ 1.25=3,750.	\$3,750	\$58.95	95 3,000 s.f @ 2.50=7,500.	\$7,500	\$22.12	2 \$777.40
13Q510305	CREVE COEUR AIRPORT IMPROVEMENT CORP			0 2003 CR, 3,000 sf x \$25 x (1-age/40 (.57)) x. 4 = 17,100 plus 4,124 for runways (20,619 x. 2) & 1,353 for terminal (3,382 x. 4) = 22,577		\$569.53	\$126.80	30 Water benefits only. 3,000 s.f @ 1.25=3,750.	\$3,750	\$58.95	3,000 s.f @ 2.50=7,500.	\$7,500	\$22.12	2 \$777.40
13Q510314	CREVE COEUR AIRPORT IMPROVEMENT CORP	KIENTZ, BILL (LESSEE)		0 2003 CR, 3,000 sf x \$25 x (1-age/40 (.57)) x. 4 = 17,100 plus 4,124 for runways (20,619 x. 2) & 1,353 for terminal (3,382 x. 4) = 22,577		\$569.53	\$126.80	30 Water benefits only. 3,000 s.f @ 1.25=3,750.	\$3,750	\$58.95	95 3,000 s.f @ 2.50=7,500.	\$7,500	00 \$22.12	2 \$777.40

	HOWARD BEND LEVEE DISTRICT													
	2020 LEVEE TAX BOOK (LOCATOR #)	<u>A)</u>		·	<u> </u>						<u> </u>		0.000040	
LOCATOR #	PROPERTY OWNER	c/0	2020 Acres Assessed	es Levee Assessment Commissioners Notes	is 2020 Levee Assessed Benefits	ee 2020 Levee Installment Assessment Tax Book	2020 Maintenance x Assessment Tax Book			2020 Sewer & Water Installment Assessmenet				
13Q510323	CREVE COEUR AIRPORT IMPROVEMENT CORP	LEXIE PEXIE, LLC (LESSEE)	0.070	2003 CR, 3,000 sf x \$25 x (1-age/40 (.57)) x.4 = 17,100 plus 4,124 for runways (20,619 x.2) & 1,353 for terminal (3,382 x.4) = 22,577		\$242.68		30 Water benefits only. 3,000 s.f @ 1.25=3,750.	\$3,750	\$58.95	95 3,000 s.f @ 2.50=7,500. Prepaid	id \$7,500	\$0.00	00 \$428.43
13Q510332	CREVE COEUR AIRPORT IMPROVEMENT CORP	STIX, ALBERT (LESSEE)	0.070	70 2003 CR, 3,000 sf x \$25 x (1-age/40 (.57)) x.4 = 17,100 plus 4,124 for runways (20,619 x.2) & 1,353 for terminal (3,382 x.4) = 22,577		\$569.53		30 Water benefits only. 3,000 s.f @ 1.25=3,750.	\$3,750	\$58.95	95 3,000 s.f @ 2.50=7,500.	\$7,500	\$22.12	\$777.40
13Q510341	CREVE COEUR AIRPORT IMPROVEMENT CORP	COURNOYER, JOHN (LESSEE)	0.070	70 2003 CR, 3,000 sf x \$25 x (1-age/40 (.57)) x. 4 = 17,100 plus 4,124 for runways (20.619 x. 2) & 1,353 for terminal (3,382 x. 4) = 22,577		\$569.53		30 Water benefits only. 3,000 s.f @ 1.25=3,750.	\$3,750	\$58.95	95 3,000 s.f @ 2.50=7,500.	\$7,500	\$22.12	\$777.40
13Q510350	CREVE COEUR AIRPORT IMPROVEMENT CORP	MUNGENAST, KURT (LESSEE)	0.050	50 2003 CR, 2,150 sf x \$25 x (1-age/40 (.57)) x.4 = 12,255 plus 4,124 for runways (20,619 x.2) & 1,353 for terminal (3,382 x.4) = 17,732		\$447.31		59 Water benefits only. 2,100 s.f @ 1.25=2,625.	\$2,625	\$41.26	26 2,150 s.f @ 2.50=5,375.	\$5,375	\$15.86	\$604.02
13Q510361	CREVE COEUR AIRPORT IMPROVEMENT CORP	EAKLE, CHARLES (LESSEE)	0.050	50 2003 CR, 2,100 sf x \$25 x (1-age/40 (.57)) x.4 = 11,970 plus 4,124 for runways (20.619 x.2) & 1,353 for terminal (3,382 x.4) = 17,447		\$440.12	\$97.99	99 Water benefits only. 2,100 s.f @ 1.25=2,625.	\$2,625	\$41.26	26 2,100 s.f @ 2.50=5,250.	\$5,250	515.49	\$594.86
13Q510372	CREVE COEUR AIRPORT IMPROVEMENT CORP	WILROY L SCHAFFNER ET AL (LESSEE)	0.050	50 2003 CR, 2,100 sf x \$25 x (1-age/40 (.57)) x.4 = 11,970 plus 4,124 for runways (20.619 x.2) & 1,353 for terminal (3,382 x.4) = 17,447		\$440.12		9 Water benefits only. 2,100 s.f @ 1.25=2,625.	\$2,625	\$41.26	26 2,100 s.f @ 2.50=5,250.	\$5,250	50 \$15.49	\$594.86
13Q510383	CREVE COEUR AIRPORT IMPROVEMENT CORP	HENRY, R G (LESSEE)	0.050	50 2003 CR, 2,100 sf x \$25 x (1-age/40 (.57)) x. 4 = 11,970 plus 4,124 for runways (20.619 x. 2) & 1,353 for terminal (3,382 x. 4) = 17,447		\$440.12		99 Water benefits only. 2,100 s.f @ 1.25=2,625.	\$2,625	\$41.2¢	26 2,100 s.f @ 2.50=5,250.	\$5,250	50 \$15.49	\$594.86
13Q510394	CREVE COEUR AIRPORT IMPROVEMENT CORP	LETRELLO, MICHAEL F (LESSEE)	0.050	50 2003 CR, 2,100 sf x \$25 x (1-age/40 (.57)) x.4 = 11,970 plus 4,124 for runways (20,619 x.2) & 1,353 for terminal (3,382 x.4) = 17,447		\$440.12	\$97.99	99 Water benefits only. 2,100 s.f @ 1.25=2,625.	\$2,625	\$41.26	26 2,100 s.f @ 2.50=5,250.	\$5,250	50 \$15.49	\$594.8
13Q510406	CREVE COEUR AIRPORT IMPROVEMENT CORP	ZIEGLER, MICHAEL (LESSEE)	0.050	50 2003 CR, 2,100 sf x \$25 x (1-age/40 (.57)) x.4 = 11,970 plus 4,124 for runways (20,619 x.2) & 1,353 for terminal (3,382 x.4) = 17,447		\$440.12		99 Water benefits only. 2,100 s.f @ 1.25=2,625.	\$2,625	\$41.26	26 2,500 s.f @ 2.50=6,250.	\$6,250	50 \$18.44	\$597.8
13Q510415	CREVE COEUR AIRPORT IMPROVEMENT CORP	HUNN, KENNETH J (LESSEE)	0.050	50 2003 CR, 2,100 sf x \$25 x (1-age/40 (.57)) x.4 = 11,970 plus 4,124 for runways (20,619 x.2) & 1,353 for terminal (3,382 x.4) = 17,447		\$440.12		99 Water benefits only. 2,100 s.f @ 1.25=2,625.	\$2,625	\$41.26	26 2,100 s.f @ 2.50=5,250.	\$5,250	50 \$15.49	19 \$594.8
13Q510424	CREVE COEUR AIRPORT IMPROVEMENT CORP	LEXIE PEXIE, LLC(LE SSEE)	0.040	40 2003 CR, 1,806 sf x \$25 x (1-age/40 (.57)) x. 4 = 10,294 plus 4,124 for runways (20,619 x. 2) & 1,353 for terminal (3,382 x. 4) = 13,071		\$329.73		11 Water benefits only. 1,860 s.f @ 1.25=2,325.	\$2,325	\$36.55	55 1,806 s.f @ 2.50=4,650.	\$4,515	\$13.32	\$453.0

	HOWARD BEND LEVEE DISTRICT				1									
	2020 LEVEE TAX BOOK (LOCATOR #	4)						·			<u> </u>			'
LOCATOR #	PROPERTY OWNER	c/o	2020 Acres Assessed	es Levee Assessment Commissioners Notes	s 2020 Levee Assessed Benefits	e 2020 Levee Installment Assessment Tax Book	2020 Maintenance Assessment Tax Book			2020 Sewer & Water Installment Assessmenet	2013 Storm Water t Commissioners Notes			
13Q510433	CREVE COEUR AIRPORT IMPROVEMENT CORP	CHASTAIN, PHILLIP (LESSEE)	0.040	 2003 CR, 1,806 sf x \$25 x (1-age/40 (.57)) x. 4 = 10,294 plus 4,124 for runways (20,619 x .2) & 1,353 for terminal (3,382 x .4) = 13,071 		\$329.73		11 Water benefits only. 1,860 s.f @ 1.25=2,325.	\$2,325	\$36.55	55 1,806 s.f @ 2.50=4,650.	\$4,515	.5 \$13.32	2 \$453.01
13Q510442	CREVE COEUR AIRPORT IMPROVEMENT CORP	COURNOYER, JOHN (LESSEE)	0.050	50 2003 CR, 2,100 sf x \$25 x (1-age/40 (.57)) x. 4 = 11,970 plus 4,124 for runways (20,619 x. 2) & 1,353 for terminal (3,382 x. 4) = 17,447		.7 \$440.12		 Water benefits only. 2,100 s.f @ 1.25=2,625. 	\$2,625	\$41.26	26 2,100 s.f @ 2.50=5,250.	\$5,250	50 \$15.49	9 \$594.86
13Q510451	CREVE COEUR AIRPORT IMPROVEMENT CORP	LENENE, ISABELLE LINK ANDRE REV TRUST (LESSEE)	0.060	50 2003 CR, 2,500 sf x \$25 x (1-age/40 (.60)) x.4 = 15,000 plus 4,124 for runways (20,619 x.2) & 1,353 for terminal (3,382 x.4) = 17,777		7 \$448.44		 Water benefits only. 2,500 s.f @ 1.25=3,125. 	\$3,125	\$49.12	2 2,500 s.f @ 2.50=6,250.	\$6,250	0 \$18.44	4 \$615.85
13Q510460	CREVE COEUR AIRPORT IMPROVEMENT CORP	ANDRE, GEORGE (LESSEE)	0.060	50 2003 CR, 2,500 sf x \$25 x (1-age/40 (.60)) x.4 = 15,000 plus 4,124 for runways (20,619 x.2) & 1,353 for terminal (3,382 x.4) = 17,777		7 \$448.44		 Water benefits only. 2,500 s.f @ 1.25=3,125. 	\$3,125	\$49.12	2 2,500 s.f @ 2.50=6,250.	\$6,250	518.44	4 \$615.85
13Q510471	CREVE COEUR AIRPORT IMPROVEMENT CORP	SHERWIN, PETER (LESSEE)	0.060	50 2018 CR, to remain the same as 2003 CR, 2,500 sf x \$25 x (1-age/40 (.60)) x .4 = 15,000 plus 4,124 for runways (20,619 x .2) & 1,353 for terminal (3,382 x .4) = 17,777		7 \$448.44		 Water benefits only. 2,500 s.f @ 1.25=3,125. 	\$3,125	\$49.12	12 2,500 s.f @ 2.50=6,250.	\$6,250	50 \$18.44	4 \$615.85
13Q510482	CREVE COEUR AIRPORT IMPROVEMENT CORP	BARRON, MIKE (LESSEE)	0.060	50 2003 CR, 2,500 sf x \$25 x (1-age/40 (.60)) x.4 = 15,000 plus 4,124 for runways (20,619 x.2) & 1,353 for terminal (3,382 x.4) = 17,777		7 \$448.44		 Water benefits only. 2,500 s.f @ 1.25=3,125. 	\$3,125	\$49.12	12 2,500 s.f @ 2.50=6,250.	\$6,250	518.44	4 \$615.85
13Q510493	CREVE COEUR AIRPORT IMPROVEMENT CORP	LIMING, GARY (LESSEE)	0.050	50 2003 CR, 2,150 sf x \$25 x (1-age/40 (.60)) x.4 = 12,900 plus 4,124 for runways (20,619 x.2) & 1,353 for terminal (3,382 x.4) = 18,377		\$463.58		21 Water benefits only. 2,150 s.f @ 1.25=2,625.	\$2,625	\$41.26	26 2,150 s.f @ 2.50=5,375.	\$5,375	\$15.86	6 \$623.91
13Q510507	CREVE COEUR AIRPORT IMPROVEMENT CORP	WEBB, KENNETH L & DENISE S (LESSEE)	0.060	50 2003 CR, 2,500 sf x \$25 x (1-age/40 (.60)) x.4 = 15,000 plus 4,124 for runways (20.619 x.2) & 1,353 for terminal (3,382 x.4) = 17,777		7 \$448.44		 Water benefits only. 2,500 s.f @ 1.25=3,125. 	\$3,125	\$49.12	2 2,500 s.f @ 2.50=6,250.	\$6,250	0 \$18.44	4 \$615.85
13Q510516	CREVE COEUR AIRPORT IMPROVEMENT CORP	RADFORD, DONALD L (LESSEE)	0.060	50 2003 CR, 2,500 sf x \$25 x (1-age/40 (.60)) x. 4 = 15,000 plus 4,124 for runways (20.619 x. 2) & 1,353 for terminal (3,382 x. 4) = 17,777		7 \$448.44		4 Water benefits only. 2,500 s.f @ 1.25=3,125.	\$3,125	\$49.12	2 2,500 s.f @ 2.50=6,250.	\$6,250	0 \$18.44	4 \$615.85
13Q510525	CREVE COEUR AIRPORT IMPROVEMENT CORP	GRIEVE, CINDY (LESSEE)	0.060	50 2003 CR, 2,500 sf x \$25 x (1-age/40 (.60)) x.4 = 15,000 plus 4,124 for runways (20,619 x.2) & 1,353 for terminal (3,382 x.4) = 17,777		7 \$448.44		4 Water benefits only. 2,500 s.f @ 1.25=3,125.	\$3,125	\$49.12	2 2,500 s.f @ 2.50=6,250.	\$6,250	0 \$18.44	4 \$615.85
13Q510534	CREVE COEUR AIRPORT IMPROVEMENT CORP	JOHNSON, JIMMY L (LESSEE)	0.060	50 2003 CR, 2,500 sf x \$25 x (1-age/40 (.60)) x. 4 = 15,000 plus 4,124 for runways (20,619 x.2) & 1,353 for terminal (3,382 x.4) = 17,777		7 \$448.44		4 Water benefits only. 2,500 s.f @ 1.25=3,125.	\$3,125	\$49.12	2 2,500 s.f @ 2.50=6,250.	\$6,250	50 \$18.44	4 \$615.85

	HOWARD BEND LEVEE DISTRICT				I	· · · · · · · · · · · · · · · · · · ·			· · · · · · · · · · · · · · · · · · ·				· · · · · · · · · · · · · · · · · · ·	· · · · · · · · · · · · · · · · · · ·
	2020 LEVEE TAX BOOK (LOCATOR #								'				I	
LOCATOR #	PROPERTY OWNER	c/o	2020 Acres Assessed	Evee Assessment Commissioners Notes	s 2020 Levee Assessed Benefits	e 2020 Levee Installment Assessment Tax Book	2020 Maintenance Assessment Tax Book			2020 Sewer & Water Installment Assessmenet	2013 Storm Water t Commissioners Notes	r 2020 Storm Water Pump Station Assessed Benefits		2020 n Total Assessment
13Q510543	CREVE COEUR AIRPORT IMPROVEMENT CORP		4.020	20 2003 CR, \$30,000/acre x 4.02 x .4	\$48,240	0 \$1,216.91	\$270.94	4 0.3066052 spread to hangar owners. 7.52 acres serviced by sewer.		\$306.71	/1 4.02 acres @ 4,000=16,080.	\$16,080	0 \$47.43	3 \$1,841.9
13Q510552	CREVE COEUR AIRPORT IMPROVEMENT CORP		28.210	10 2003 CR, terminal bldg 437,406 x 1.5 = 656,109 x 50% = 328,055 x.4 = 131,222, plus runways (90% runway and taxiways, 10% grass runways) use 30% of 54 mil = 51,200,000 x 55% = 600,000 x.2 = 120,000 plus \$30,000/acre x 28.21 = 846,300 x .2 = 169,260 = 120	s,	2 \$10,607.11	\$2,361.62	2 Airport runway- partial, 13.01 acres exempt. 0.3066052 spread to hangar owners.	\$73,777	\$1,159.70	70 28.21 acres @ 4,000=112,840.	\$112,840	0 \$332.86	5 \$14,461.2
13Q520052	CONCON REAL ESTATE LLC		13.900	00 2006 CR. Only land. \$30,000/acre x 13.90 x .2 = 83,400	\$83,400	0 \$2,103.85	\$468.41	11 Splir from 13Q52- 0021. Home and small buisiness. Water.13.26 acres @ 7,000=92,820; sewer 12.26 acres @14,000=171,640		\$4,157.05	13.90 acrs @18,316 =254,592.	6 \$254,592	2 \$751.00	\$7,480.3
13Q520063	CORNERSTONE LAND CO LLC	C/O ALTUS PROPERTIES LLC	30.000	00 2006 CR. Residential and Ag ground. "R" 30,000 x 3 + 39,789 x .3 = 38,937; "A" 30,000/acre x 30 + Imp x .2 = 160,834 + 38,937 = 199,771	\$199,771	1 \$5,039.44	\$1,122.01	01 30 acres @ 7,000= 210,000; 30 acres @ 14,000= 420,000. Total 630,000.	\$630,000	\$9,902.99	99 30 acres @ 34,355=1,030,651.	\$1,030,651	1 \$3,040.22	2 \$19,104.
13Q530013	CREVE COEUR AIRPORT IMPROVEMENT CORP		50.690	00 2003 CR, Runway 35% of \$4 mil = \$1,400,000 x 50% = 700,000 + \$30,000/acre x 50.69 = 1,520,700 + 700,000 = 2,220,700 x .2 = 444,140	\$444,140	0 \$11,203.91	\$2,494.50	 Airport runways, grass & concrete-partial. 27.93 acres exemp. 0.3066052 spread to hangar owners. 		\$1,736.51	1 50.69 acres @ 4,000=202,760.	\$202,760	0 \$598.10	\$16,033.
13Q540023	CREVE COEUR AIRPORT IMPROVEMENT CORP		49.730	30 2003 CR, runways 5% of \$4 mil = 200,000 x 50% = 100,000 plus \$30,000/acre x 49.73 = 1,491,900 + 100,000 x .2 = 318,380	0 \$318,380	0 \$8,031.48	\$1,788.17	I7 Grass airport runway- partial. 20.66 acres exemp. 0.3066052 spread to hangar owners.	- \$141,098	\$2,217.92	49.73 acres @ 4,000=198,920.	\$198,920	0 \$586.78	\$12,624
13Q610010	MARYLAND HEIGHTS CITY OF		0.860	50 2003, CR, \$30,000/acre x .86 x .3	\$7,740	0 \$195.25	\$43.47	 17 0.86 acres @7,000=6,020; 0.86 acres @ 14,000=12,040. Total 18,060. 	\$18,060	\$283.89	89 0.86 acres @25,001=21,501.	\$21,501	1 \$63.42	2 \$586
13Q610021	HENRAY PARTNERSHIP THE		2.790	0 2003, \$\$0,000/acre x 3 + 45,000 imp x .3 = 58,500 plus \$50,000/acre x 121.46 x .2 = 1,214,600 + 58,500 = 1,273,100. Adjusted as per settlement to CR \$942,524. 942,524-45,000 imps = 897,524/124.43 acres = 7,213/acre		5 \$507.67	\$113.03	3 2.79 acres @ 7,000–19,530; 2.79 acres @ 14,000=39,060. Total 58,590.	\$58,590	\$920.98	2.79 acres @21,068 = 58,778.	8 \$58,778	8 \$173.38	\$1,715
13Q610032	KGB, INC		1.965	55 2008 Tax Book, no improvements, use 5,976.63/acre for AB	\$11,744	4 \$280.23	\$65.96	6 21,000 per county original acreage.	\$43,293	\$680.53	3 1.97 acres @ 38,985=76,606.	\$76,606	6 \$225.97	7 \$1,25

	HOWARD BEND LEVEE DISTRICT	1		1	1	1	1	1	T	1		T	1	
	2020 LEVEE TAX BOOK (LOCATOR #)							· · · · · · · · · · · · · · · · · · ·						
								'					0.002949	
LOCATOR #	PROPERTY OWNER	c/o	2020 Acres Assessed	es Levee Assessment Commissioners Notes	s 2020 Levee Assessed Benefits	ee 2020 Levee Installment Assessment Tax Book	2020 Maintenance x Assessment Tax Book	2007 Sewer & Water Commissioners Notes x						
13Q620042	BOGGS, C DALE & CAROL M H/W			10 2003 CR, Driving Range, \$35,000/acre x 25.24 + 105,100= \$988,500 x .4 (\$395,400) + Residential \$152,700 x .3 (\$45,810)=\$441,210. Acreage adjusted down in 2018.				14 25.24 acres @ 7,000=176,680; 25.24 acres @ 14,000=353,360. Total 530,040.	al		71 25.24 acres @ 37,330=942,220.	\$942,220		
13Q620053	BOGGS, C DALE & CAROL M H/W			0 2003 CR, Driving Range, \$35,000/acre x 12.00 acres x .2 = \$84,000 + \$35,000/acres x 15.86 x .4 = \$222,040 = \$306,040. Acreage adjusted in 2018.		0 \$4,919.59	\$1,095.32	 2 27.86 acres @ 7,000=195,020; 27.86 acres @ 14,000=390,040. Total 585,060. 		\$9,196.57	57 27.86 acres @ 23,622=658,110.	\$658,110	10 \$1,941.30	0 \$17,152.78
13Q630122	KGB, INC			11 2008 Tax Book, no improvements, use 5,976.63/acre for AB	\$145,470	0 \$3,471.29	\$817.03	3 21,000 per county original acreage.	\$536,284	\$8,429.87	87 24.34 acres @ 22,131=538,702.	\$538,702)2 \$1,589.07	7 \$14,307.26
13Q640073	KGB, INC			27 2008 Tax Book, no improvements, use 5,976.63/acre for AB	\$31,836	6 \$759.69	\$178.81	31 21,000 per county original acreage.	\$117,365	\$1,844.87	87 5.33 acres @ 42,552=226,673.	\$226,673	73 \$668.64	4 \$3,452.00
14Q330083	MARYLAND PARK HOLDINGS LLC			20 2003 CR, Bad access. \$35,000/acre x 19.22 x .2	\$134,540	.0 \$3,210.47	\$755.64	 i4 19.22 acres @ 7,000= 134,540; 19.22 acres @ 14,000=269,080. Total 403,620. 		\$6,344.51	51 19.22 acres @ 8,970 =172,407.	\$172,407)7 \$508.57	7 \$10,819.19
14Q330106	MARYLAND PARK HOLDINGS LLC		3.580	30 2003 CR, Bad access. \$35,000/acre x 3.58 x .2	\$25,060	0 \$598.00	\$140.75	75 3.58 acres @ 7,000= 25,060; 3.58 acres @ 14,000 = 50,120. Total 75,180.	\$75,180	\$1,181.76	76 3.58 acres @ 9,008=32,250.	\$32,250	50 \$95.13	3 \$2,015.63
14Q510021	CORA STOLTE HOMEPLACE ON CREVE COEUR LAKE+L220			0 2003 CR, \$30,000/acre x 3 + 63,675 x .3 = 46,103 plus 14.68 acres x 30,000 x .2 = 88,080 + 46,103 = 134,183	= \$134,183	3 \$3,384.91	\$753.63	 Vacant house. Normal benefits 17.68 acres @7,000=123,760; 17.68 acres @ 14,000=247,520. Total 371,280. 		\$5,836.16	16 17.68 acres @ 31,686=560,210.	\$560,210	10 \$1,652.51	1 \$11,627.21
14Q530030	MOORE ALICE ANHEUSER BEIMS #2 TRUST		3.970	70 2003 CR, \$30,000/acre x 3.97 x .2	\$23,820	0 \$600.88		78 3.97 acres@7,000 = 27.790; 3.97 acres @ 14,000= 55,580. Total 83,370.		\$1,310.50	50 3.97 acres @ 14,624=58,056.	\$58,056	56 \$171.25	5 \$2,216.42
14Q540040	SLCSW FARM LLC	C/O WILLIAM FOGARTY		33 2011 Tax, combined and split from 14Q540031 and 14Q610033. Use 8,382 AB per acre.	\$291,719	9 \$7,358.92	\$1,638.43	3 34.083 acres @ 22,754.73=791,933.	\$791,933	\$12,448.42	42 34.80 acres @ 21,906=762,379.	\$762,379	\$2,248.87	7 \$23,694.65
14Q610011	HENRAY PARTNERSHIP A MO GEN PTNSP THE			00 2003 CR, \$50,000/acre x 35.19 acres taxed x .2 = 351,900. Adjusted as per settlement to CR \$267,440	\$267,440	\$6,746.46	\$1,502.07	35.19 acres @ 7,000=246,330; 35.19 acres @ 14,000=492,660. Total 738,990.	\$738,990 al	\$11,616.20	20 35.19 acres @ 16,326=574,507.	\$574,507	\$1,694.68	8 \$21,559.41

	HOWARD BEND LEVEE DISTRICT						T		T	1		1	1	
	2020 LEVEE TAX BOOK (LOCATOR #)		+ <u> </u>	+ <u></u>	<u> </u>	+	+	+	· +·	<u> </u>	+	+	+	<u> </u>
LOCATOR #	PROPERTY OWNER	c/o	2020 Acres Assessed	s Levee Assessment Commissioners Notes	2020 Levee Assessed Benefits	e 2020 Levee Installment Assessment Tax Book	2020 Maintenance x Assessment Tax Book	2007 Sewer & Water Commissioners Notes X		2020 Sewer & Water Installment Assessmenet	2013 Storm Water t Commissioners Notes	er 2020 Storm Water Pump Station Assessed Benefits		n 2020 n Total Assessment
14Q610044	SLCSW FARM LLC	C/O WM FOGARTY JR	27.381	1 2011 Tax, combined and split from 14Q540031 and 14Q610033. Use 8,382 AB per acre.	\$229,508	\$5,789.58	3 \$1,289.0:	12 27.381 acres @ 22,754.73 per acre=623,047.	\$623,047	\$9,793.6	59 27.38 acres @ 18,358=502,660.	\$502,660	0 \$1,482.75	5 \$18,355.05
14Q630011	HENRAY PARTNERSHIP THE		0.58/	0 2003 Tax Book, Adjusted CR settlement		6 \$125.27	7 \$27.8	39 0.58 acres @	\$12,180	\$191.4	16 0.58 acres @	\$10,294	4 \$30.37	7 \$374.99
				of \$131,566 divided by acreage of 15.36 = 8,565/acre.				7,000=4,060; 0.58 acres @ 14,000=8,120. Total 12,180.			17,748=10,294.			
14Q640052	HENRAY PARTNERSHIP THE			0 2003 CR, \$50,000/acre x .23 x .2 = 2,300. Adjusted as per settlement to CR \$1,748				22 0.38 acres @ 7,000=2,660; 0.38 acres @ 14,000=5,320. Total 7,980.	\$7,980		44 0.38 acres @ 45,111=17,142.	\$17,142		
14Q640063	HENRAY PARTNERSHIP THE			0 2003 CR, \$50,000/acre x 5.53 acres taxed x. 2 = 55,300. Adjusted as per settlement to CR \$42,028	nt			5.16 acres @ 7,000=36,120; 5.16 acres @ 14,000=72,240. Total 108,360.			81 5.16 acres @8,815=45,485.	\$45,485		
LN0000005	CREVE COEUR AIRPORT IMPROVEMENT CORP	GROENEVELD, JOHN (LESSEE)		0 2003 CR, 2,500 sf x \$25 x (1-age/40 (.625)) x .4 = 15,625 plus 4,124 for runways (20,619 x .2) & 1,353 for terminal (3,382 x .4) = 21,102	\$21,102			2 Water benefits only. 2,500 s.f @ 1.25=3,125.	\$3,125		2 2,500 s.f @ 2.50=6,250.	\$6,250		
LN0000006	CREVE COEUR AIRPORT IMPROVEMENT CORP	KERNER, FRANK & CAROL (LESSEES)		0 2003 CR, 2,500 sf x \$25 x (1-age/40 (.65)) x. 4 = 16,250 plus 4,124 for runways (20,619 x. 2) & 1,353 for terminal (3,382 x. 4) = 21,727		7 \$548.09	\$122.03	 Water benefits only. 2,500 s.f @ 1.25=3,125. 	\$3,125	\$49.12	12 2,500 s.f @ 2.50=6,250.	\$6,250	\$18.44	4 \$737.68
LN000008	CREVE COEUR AIRPORT IMPROVEMENT CORP	STIX, ALBERT (LESSEE)	0.060	0 2003 CR, 2,500 sf x \$25 x (1-age/40 (.625)] x. 4 = 15,625 plus 4,124 for runways (20,619 x. 2) & 1,353 for terminal (3,382 x. 4) = 21,102	\$21,102	\$532.32	\$118.52	2 Water benefits only. 2,500 s.f @ 1.25=3,125.	\$3,125	\$49.12	12 2,500 s.f @ 2.50=6,250.	\$6,250	0 \$18.44	4 \$718.40
LN0000009	CREVE COEUR AIRPORT IMPROVEMENT CORP	LORENZ, BRIAN (LESSEE)		0 2003 CR, 2,500 sf x \$25 x (1-age/40 (.625)) x.4 = 15,625 plus 4,124 for runways (20,619 x.2) & 1,353 for terminal (3,382 x.4) = 21,102	\$21,102	\$532.32	\$118.52	 Water benefits only. 2,500 s.f @ 1.25=3,125. 	\$3,125	\$49.12	12 2,500 s.f @ 2.50=6,250.	\$6,250	0 \$18.44	4 \$718.40
LN0000010	CREVE COEUR AIRPORT IMPROVEMENT CORP	HAUG, RUDY (LESSEE)		0 2003 CR, 2,500 sf x \$25 x (1-age/40 (.625)) x.4 = 15,625 plus 4,124 for runways (20,619 x.2) & 1,353 for terminal (3,382 x.4) = 21,102	\$21,102	\$532.32	\$118.52	2 Water benefits only. 2,500 s.f @ 1.25=3,125.	\$3,125	\$49.12	12 2,500 s.f @ 2.50=6,250.	\$6,250	0 \$18.44	4 \$718.40
LN0000011	CREVE COEUR AIRPORT IMPROVEMENT CORP	LORENZ, BRIAN (LESSEE)		0 2003 CR, 2,500 sf x \$25 x (1-age/40 (.625)) x .4 = 15,625 plus 4,124 for runways (20,619 x .2) & 1,353 for terminal (3,382 x .4) = 21,102	\$21,102	\$532.32	\$118.52	 Water benefits only. 2,500 s.f @ 1.25=3,125. 	\$3,125	\$49.12	12 2,500 s.f @ 2.50=6,250.	\$6,250	0 \$18.44	4 \$718.40
LN0000012	CREVE COEUR AIRPORT IMPROVEMENT CORP	PARISH, JOHN (LESSEE)	0.060	0 2003 CR, 2,500 sf x \$25 x (1-age/40 (.625)) x .4 = 15,625 plus 4,124 for runways (20,619 x .2) & 1,353 for terminal (3,382 x .4) = 21,102	\$21,102	\$532.32	\$118.52	 Water benefits only. 2,500 s.f @ 1.25=3,125. 	\$3,125	\$49.12	12 2,500 s.f @ 2.50=6,250.	\$6,250	\$18.44	4 \$718.40

	HOWARD BEND LEVEE DISTRICT			'										
	2020 LEVEE TAX BOOK (LOCATOR #)	<u> </u>	'						'					<u> </u>
LOCATOR #	PROPERTY OWNER	C/0	2020 Acres Assessed	s Levee Assessment Commissioners Notes	is 2020 Levee Assessed Benefits	e 2020 Levee Installment Assessment Tax Book	2020 Maintenance Assessment Tax Book	2007 Sewer & Water Commissioners Notes x		2020 Sewer & Water Installment Assessmenet				n 2020 n Total Assessment
LN0000013	CREVE COEUR AIRPORT IMPROVEMENT CORP	JOINT VENTURES (LESSEE)	0.060	0 2003 CR, 2,500 sf x \$25 x (1-age/40 (.625)) x .4 = 15,625 plus 4,124 for runways (20,619 x .2) & 1,353 for terminal (3,382 x .4) = 21,102	\$21,102	2 \$532.32	\$118.52	2 Water benefits only. 2,500 s.f @ 1.25=3,125.	\$3,125	\$49.12	12 2,500 s.f @ 2.50=6,250.	\$6,250	50 \$18.44	4 \$718.40
LN0000014	CREVE COEUR AIRPORT IMPROVEMENT CORP	OVERSTREET, WALLY (LESSEE)		0 2003 CR, 2,500 sf x \$25 x (1-age/40 (.625)) x .4 = 15,625 plus 4,124 for runways (20,619 x .2) & 1,353 for terminal (3,382 x .4) = 21,102	\$21,102	\$532.32	\$118.52	2 Water benefits only. 2,500 s.f @ 1.25=3,125.	\$3,125	\$49.12	12 2,500 s.f @ 2.50=6,250.	\$6,250	50 \$18.44	4 \$718.40
LN0000015	CREVE COEUR AIRPORT IMPROVEMENT CORP	ZIMMER, SCOTT & NANCY (LESSEES)		0 2003 CR, 2,500 sf x \$25 x (1-age/40 (.625)) x .4 = 15,625 plus 4,124 for runways (20,619 x .2) & 1,353 for terminal (3,382 x .4) = 21,102	\$21,102	\$532.32	\$118.52	2 Water benefits only. 2,500 s.f @ 1.25=3,125.	\$3,125	\$49.12	12 2,500 s.f @ 2.50=6,250.	\$6,250	50 \$18.44	4 \$718.40
LN0000016	CREVE COEUR AIRPORT IMPROVEMENT CORP	HOLLENSBE, IRA (LESSEE)		0 2003 CR, 2,500 sf x \$25 x (1-age/40 (.65)) x. 4 = 16,250 plus 4,124 for runways (20,619 x. 2) & 1,353 for terminal (3,382 x. 4) = 21,727		7 \$548.09	\$122.03	 Water benefits only. 2,500 s.f @ 1.25=3,125. 	\$3,125	\$49.12	12 2,500 s.f @ 2.50=6,250.	\$6,250	\$18.44	4 \$737.68
LN0000017	CREVE COEUR AIRPORT IMPROVEMENT CORP	MAY, BOB (LESSEE)	0.060	0 2003 CR, 2,500 sf x \$25 x (1-age/40 (.65)) x. 4 = 16,250 plus 4,124 for runways (20,619 x. 2) & 1,353 for terminal (3,382 x. 4) = 21,727		\$548.09	\$122.03	 Water benefits only. 2,500 s.f @ 1.25=3,125. 	\$3,125	\$49.12	12 2,500 s.f @ 2.50=6,250.	\$6,250	\$18.44	4 \$737.68
LN0000018	CREVE COEUR AIRPORT IMPROVEMENT CORP	D & S MANUFACTURING (LESSEE)		0 2003 CR, 2,500 sf x \$25 x (1-age/40 (.65)) x. 4 = 16,250 plus 4,124 for runways (20,619 x. 2) & 1,353 for terminal (3,382 x. 4) = 21,727		\$548.09	\$122.03	 Water benefits only. 2,500 s.f @ 1.25=3,125. 	\$3,125	\$49.12	12 2,500 s.f @ 2.50=6,250.	\$6,250	\$18.44	4 \$737.68
LN0000019	CREVE COEUR AIRPORT IMPROVEMENT CORP	UNRUH, GARRY (LESSEE)		0 2003 CR, 2,500 sf x \$25 x (1-age/40 (.65)) x. 4 = 16,250 plus 4,124 for runways (20,619 x. 2) & 1,353 for terminal (3,382 x. 4) = 21,727		\$548.09	\$122.03	 Water benefits only. 2,500 s.f @ 1.25=3,125. 	\$3,125	\$49.12	12 2,500 s.f @ 2.50=6,250.	\$6,250	\$18.44	4 \$737.68
LN0000020	CREVE COEUR AIRPORT IMPROVEMENT CORP	S & W AVIATION (LESSEE)	0.060	0 2003 CR, 2,500 sf x \$25 x (1-age/40 (.65)) x. 4 = 16,250 plus 4,124 for runways (20,619 x. 2) & 1,353 for terminal (3,382 x. 4) = 21,727		548.09	\$122.03	 Water benefits only. 2,500 s.f @ 1.25=3,125. 	\$3,125	\$49.12	12 2,500 s.f @ 2.50=6,250.	\$6,250	50 \$18.44	4 \$737.68
LN0000021	CREVE COEUR AIRPORT IMPROVEMENT CORP	ARCHWAY AVIATION K NEUROTH (LESSEE)		0 2003 CR, 2,500 sf x \$25 x (1-age/40 (.625)) x .4 = 15,625 plus 4,124 for runways (20,619 x .2) & 1,353 for terminal (3,382 x .4) = 21,102	\$21,102	\$532.32	\$118.52	2 Water benefits only. 2,500 s.f @ 1.25=3,125.	\$3,125	\$49.12	12 2,500 s.f @ 2.50=6,250.	\$6,250	50 \$18.44	4 \$718.40
LN0000022	CREVE COEUR AIRPORT IMPROVEMENT CORP	BALLEW, BRUCE (LESSEE)		0 2003 CR, 3,000 sf x \$25 x (1-age/40 (.925)) x .4 = 27,750 plus 4,124 for runways (20,619 x .2) & 1,353 for terminal (3,382 x .4) = 33,227	\$33,227	5838.19	\$186.62	2 Water benefits only. 3,000 s.f @ 1.25=3,750.	\$3,750	\$58.95	3,000 s.f @ 2.50=7,500.	\$7,500	\$22.12	2 \$1,105.88
LN0000023	CREVE COEUR AIRPORT IMPROVEMENT CORP	DOWNING, ERIC (LESSEE)	0.070	0 2003 CR, 3,000 sf x \$25 x (1-age/40 (.925)) x .4 = 27,750 plus 4,124 for runways (20,619 x .2) & 1,353 for terminal (3,382 x .4) = 33,227	\$33,227	\$838.19	\$186.62	2 Water benefits only. 3,000 s.f @ 1.25=3,750.	\$3,750	\$58.95	95 3,000 s.f @ 2.50=7,500.	\$7,500	\$22.12	2 \$1,105.88

	HOWARD BEND LEVEE DISTRICT			'					'					
	2020 LEVEE TAX BOOK (LOCATOR #)	<u>A</u>				<u> </u>	+		·'	+		<u> </u>	0.002949	
LOCATOR #	PROPERTY OWNER	C/0	2020 Acres Assessed	es Levee Assessment Commissioners Notes	es 2020 Levee Assessed Benefits	e 2020 Levee Installment Assessment Tax Book	2020 Maintenance x Assessment Tax Book			2020 Sewer & Water Installment Assessmenet			2020 Storm Water Pump Station	
LN0000024	CREVE COEUR AIRPORT IMPROVEMENT CORP	ROSS, JOHN (LESSEE)	0.060	50 2003 CR, 2,500 sf x \$25 x (1-age/40 (.925)) x .4 = 23,125 plus 4,124 for runways (20,619 x .2) & 1,353 for terminal (3,382 x .4) = 28,602	\$28,602	\$721.52		4 Water benefits only. 2,500 s.f @ 1.25=3,125.	\$3,125	\$49.12	12 2,500 s.f @ 2.50=6,250.	\$6,250	50 \$18.44	14 \$949.72
LN0000025	CREVE COEUR AIRPORT IMPROVEMENT CORP	KLEVRON, DAVE (LESSEE)	0.060	50 2003 CR, 2,500 sf x \$25 x (1-age/40 (.925)) x .4 = 23,125 plus 4,124 for runways (20,619 x .2) & 1,353 for terminal (3,382 x .4) = 28,602	\$28,602	\$721.52		 Water benefits only. 2,500 s.f @ 1.25=3,125. 	\$3,125	\$49.12	12 2,500 s.f @ 2.50=6,250.	\$6,250	50 \$18.44	\$949.72
LN0000026	CREVE COEUR AIRPORT IMPROVEMENT CORP	GROTPETER, LESTER (LESSEE) Prepaid 2017 A&B	0.070	70 2003 CR, 3,000 sf x \$25 x (1-age/40 (.925)) x .4 = 27,750 plus 4,124 for runways (20,619 x .2) & 1,353 for terminal (3,382 x .4) = 33,227	\$33,227	\$661.95		2 Water benefits only. 3,000 s.f @ 1.25=3,125. Prepaid.	\$0	\$0.00	00 3,000 s.f @ 2.50=7,500.	\$7,500	\$22.12	\$870.69
LN0000027	CREVE COEUR AIRPORT IMPROVEMENT CORP	JOINT VENTURES (LESSEE)	0.070	70 2003 CR, 3,000 sf x \$25 x (1-age/40 (.925)) x .4 = 27,750 plus 4,124 for runways (20,619 x .2) & 1,353 for terminal (3,382 x .4) = 33,227	\$33,227	\$838.19		2 Water benefits only. 3,000 s.f @ 1.25=3,750.	\$3,750	\$58.95	95 3,000 s.f @ 2.50=7,500.	\$7,500	\$22.12	\$1,105.88
LN0000028	CREVE COEUR AIRPORT IMPROVEMENT CORP	D & S MANUFACTURING (LESSEE)	0.070	70 2003 CR, 3,000 sf x \$25 x (1-age/40 (.925)) x .4 = 27,750 plus 4,124 for runways (20,619 x .2) & 1,353 for terminal (3,382 x .4) = 33,227	\$33,227	\$838.19	\$186.62	2 Water benefits only. 3,000 s.f @ 1.25=3,750.	\$3,750	\$58.95	95 3,000 s.f @ 2.50=7,500.	\$7,500	\$22.12	\$1,105.88
LN0000029	CREVE COEUR AIRPORT IMPROVEMENT CORP	DOWNING, ERIC & TINA (LESSEES)	0.090	00 2003 CR, 3,750 sf x \$25 x (1-age/40 (.95)) x. 4 = 35,625 plus 4,124 for runways (20,619 x. 4) & 1,353 for terminal (3,382 x. 4) = 41,102		\$1,036.84		25 Water benefits only. 3,750 s.f @ 1.25=4,688.	\$4,688	\$73.68	68 3,750 s.f @ 2.50=9,375.	\$9,375	\$27.65	\$1,369.02
LN0000030	CREVE COEUR AIRPORT IMPROVEMENT CORP	DOWNING, ERIC & TINA (LESSEES)	0.070	70 2003 CR, 3,000 sf x \$25 x (1-age/40 (-95)) x.4 = 28,500 plus 4,124 for runways (20.619 x.2) & 1,353 for terminal (3,382 x.4) = 33,977		\$857.11		33 Water benefits only. 3,000 s.f @ 1.25=3,750.	\$3,750	\$58.95	95 3,000 s.f @ 2.50=7,500.	\$7,500	\$22.12	\$1,129.01
LN0000031	CREVE COEUR AIRPORT IMPROVEMENT CORP	DOWNING, ERIC & TINA (LESSEES)	0.060	50 2003 CR, 2,500 sf x \$25 x (1-age/40 (.95)) x. 4 = 23,750 plus 4,124 for runways (20.619 x. 2) & 1,353 for terminal (3,382 x. 4) = 29,227		\$737.28	\$164.15	 15 Water benefits only. 2,500 s.f @ 1.25=3,125. 	\$3,125	\$49.12	12 2,500 s.f @ 2.50=6,250.	\$6,250	50 \$18.44	\$968.99
LN0000032	CREVE COEUR AIRPORT IMPROVEMENT CORP	POLLVOGT, MITCH (LESSEE)	0.060	50 2003 CR, 2,500 sf x \$25 x (1-age/40 (.95)) x. 4 = 23,750 plus 4,124 for runways (20.619 x. 2) & 1,353 for terminal (3,382 x. 4) = 29,227		\$737.28		15 Water benefits only. 2,500 s.f @ 1.25=3,125.	\$3,125	\$49.12	12 2,500 s.f @ 2.50=6,250.	\$6,250	50 \$18.44	\$968.99
LN0000033	CREVE COEUR AIRPORT IMPROVEMENT CORP	LEIDHOLDT, STEVE (LESSEE)	0.060	50 2003 CR, 2,500 sf x \$25 x (1-age/40 (.95)) x. 4 = 23,750 plus 4,124 for runways (20.619 x. 2) & 1,353 for terminal (3,382 x. 4) = 29,227		\$737.28		 15 Water benefits only. 2,500 s.f @ 1.25=3,125. 	\$3,125	\$49.12	12 2,500 s.f @ 2.50=6,250.	\$6,250	50 \$18.44	\$968.9
LN0000034	CREVE COEUR AIRPORT IMPROVEMENT CORP	YAISER, JAMES & S STRUYK (LESSEES)	0.060	50 2003 CR, 2,500 sf x \$25 x (1-age/40 (.95)) 50 2,750 plus 4,124 for runways (20,619 x.2) & 1,353 for terminal (3,382 x.4) = 29,227		\$737.28	\$164.15	L5 Water benefits only. 2,500 s.f @ 1.25=3,125.	\$3,125	\$49.12	12 2,500 s.f @ 2.50=6,250.	\$6,250	50 \$18.44	\$968.9

	HOWARD BEND LEVEE DISTRICT		_ _ '											
	2020 LEVEE TAX BOOK (LOCATOR #)	<u></u>					<u> </u>		'	<u> </u>		<u> </u>	0.000040	<u>ب</u>
LOCATOR #	PROPERTY OWNER	C/0	2020 Acres Assessed	s Levee Assessment Commissioners Notes	s 2020 Levee Assessed Benefits	e 2020 Levee Installment Assessment Tax Book	2020 Maintenance Assessment Tax Book	2007 Sewer & Water Commissioners Notes		2020 Sewer & Water Installment Assessmenet				a 2020 n Total Assessment
LN0000035	CREVE COEUR AIRPORT IMPROVEMENT CORP	KLEVRON, DAVE (LESSEE)		0 2003 CR, 2,500 sf x \$25 x (1-age/40 (.925)) x .4 = 23,125 plus 4,124 for runways (20,619 x .2) & 1,353 for terminal (3,382 x .4) = 28,602	\$28,602	2 \$721.52	\$160.64	4 Water benefits only. 2,500 s.f @ 1.25=3,125.	\$3,125		12 2,500 s.f @ 2.50=6,250.	\$6,250	0 \$18.44	4 \$949.72
LN0000036	CREVE COEUR AIRPORT IMPROVEMENT CORP	ANDERSON, WALLACE (LESSEE)		0 2003 CR, 2,500 sf x \$25 x (1-age/40 (.975) x .4 = 24,375 plus 4,124 for runways (20,619 x .2) & 1,353 for terminal (3,382 x .4) = 29,852	\$29,852	2 \$753.05	\$167.66	 Water benefits only. 2,500 s.f @ 1.25=3,125. 	\$3,125	\$49.12	12 2,500 s.f @ 2.50=6,250.	\$6,250	0 \$18.44	4 \$988.27
LN0000037	CREVE COEUR AIRPORT IMPROVEMENT CORP	GUNDAKER, KEVIN (LESSEE)		0 2003 CR, 2,500 sf x \$25 x (1-age/40 (.975) x .4 = 24,375 plus 4,124 for runways (20,619 x .2) & 1,353 for terminal (3,382 x .4) = 29,852	\$29,852	2 \$753.05	\$167.66	 Water benefits only. 2,500 s.f @ 1.25=3,125. 	\$3,125		12 2,500 s.f @ 2.50=6,250.	\$6,250	0 \$18.44	4 \$988.27
LN0000038	CREVE COEUR AIRPORT IMPROVEMENT CORP	KRAUS, DAVID (LESSEE)		0 2003 CR, 3,000 sf x \$25 x (1-age/40 (.975) x .4 = 29,250 plus 4,124 for runways (20,619 x .2) & 1,353 for terminal (3,382 x .4) = 34,727	\$34,727	7 \$876.03	\$195.04	 Water benefits only. 3,000 s.f @ 1.25=3,750. 	\$3,750		95 3,000 s.f @ 2.50=7,500.	\$7,500	0 \$22.12	2 \$1,152.14
LN0000039	CREVE COEUR AIRPORT IMPROVEMENT CORP	REICK, DAVID (LESSEE)		0 2003 CR, 3,000 sf x \$25 x (1-age/40 (.975) x .4 = 29,250 plus 4,124 for runways (20,619 x .2) & 1,353 for terminal (3,382 x .4) = 34,727	\$34,727	7 \$876.03	\$195.04	 Water benefits only. 3,000 s.f @ 1.25=3,750. 	\$3,750	\$58.95	95 3,000 s.f @ 2.50=7,500.	\$7,500	0 \$22.12	2 \$1,152.14
LN0000040	CREVE COEUR AIRPORT IMPROVEMENT CORP	SENDA, MARK (LESSEE)		0 2003 CR, 3,000 sf x \$25 x (1-age/40 (.975) x .4 = 29,250 plus 4,124 for runways (20,619 x .2) & 1,353 for terminal (3,382 x .4) = 34,727	\$34,727	7 \$876.03	\$195.04	4 Water benefits only. 3,000 s.f @ 1.25=3,750.	\$3,750		2.50=7,500.	\$7,500	0 \$22.12	2 \$1,152.14
LN0000041	CREVE COEUR AIRPORT IMPROVEMENT CORP	DELANEY, THOMAS (LESSEE)		0 2003 CR, 3,750 sf x \$25 x (1-age/40 (.975) x .4 = 36,563 plus 4,124 for runways (20,619 x .2) & 1,353 for terminal (3,382 x .4) = 42,040	\$42,040	0 \$1,060.50	\$236.12	2 Water benefits only. 3,750 s.f @ 1.25=4,688.	\$4,688		58 3,750 s.f @ 2.50=9,375.	\$9,375	5 \$27.65	5 \$1,397.95
LN0000042	CREVE COEUR AIRPORT IMPROVEMENT CORP	BEAUCHAMP, JOHN (LESSEE)		0 2003 CR, 3,750 sf x 525 x (1-age/40 (0)) x .4 = 37,500 plus 4,124 for runways (20,619 x.2) & 1,353 for terminal (3,382 x.4) = 42,977		7 \$1,084.14	\$241.38	 Water benefits only. 3,750 s.f @ 1.25=4,688. 	\$4,688	\$73.68	58 3,750 s.f @ 2.50=9,375.	\$9,375	5 \$27.65	5 \$1,426.85
LN0000043	CREVE COEUR AIRPORT IMPROVEMENT CORP	CCAIC		0 2003 CR, 3,750 sf x \$25 x (1-age/40 (0)) x .4 = 37,500 plus 4,124 for runways (20,619 x.2) & 1,353 for terminal (3,382 x.4) = 42,977		7 \$1,084.14	\$241.38	 Water benefits only. 3,750 s.f @ 1.25=4,688. 	\$4,688	\$73.68	3,750 s.f @ 2.50=9,375.	\$9,375	5 \$27.65	5 \$1,426.85
LN0000044	CREVE COEUR AIRPORT IMPROVEMENT CORP	DELANEY, THOMAS (LESSEE)		2003 CR, concrete pad in; hangar not built. 4,124 for runways (20,619 x. 2) & 1,353 for terminal (3,382 x.2) = 5,477	\$5,477	7 \$138.16	\$30.76	 Water benefits only. 2,500 s.f @ 1.25=3,125. 	\$3,125	\$49.12	12 2,500 s.f @ 2.50=6,250. Prepaid.	\$6,250	0 \$18.44	4 \$236.48
LN0000045	CREVE COEUR AIRPORT IMPROVEMENT CORP	BLUMENSHINE, ROBERT (LESSEE)		2003 CR, concrete pad in; hangar not built. 4,124 for runways (20,619 x .2) & 1,353 for terminal (3,382 x .2) = 5,477	\$5,477	7 \$138.16	\$30.76	76 Water benefits only. 2,500 s.f @ 1.25=3,125.	\$3,125	\$49.12	12 3,000 s.f @ 2.50=7,500.	\$7,500	0 \$22.12	2 \$240.16

	HOWARD BEND LEVEE DISTRICT			'		'	· '		'	+			'	+
	2020 LEVEE TAX BOOK (LOCATOR #)	<u>d</u>	'	'					,					
LOCATOR #	PROPERTY OWNER	c/o	2020 Acres Assessed	es Levee Assessment Commissioners Notes	s 2020 Levee Assessed Benefits	e 2020 Levee Installment Assessment Tax Book	2020 Maintenance Assessment Tax Book	2007 Sewer & Water Commissioners Notes K		2020 Sewer & Water Installment Assessmenet			0.002949 2020 Storm p Water Pump Station Installment Assessment	1 2020 n Total Assessme
LN0000046	CREVE COEUR AIRPORT IMPROVEMENT CORP	NICKISCH, WILLARD (LESSEE) Prepaid 2017 A&B		2003 CR, concrete pad in; hangar not built. 4,124 for runways (20,619 x .2) & 1,353 for terminal (3,382 x .2) = 5,477	\$5,477	\$109.11		6 Water benefits only. 2,500 s.f @ 1.25=3,125. Prepaid.	\$0	\$0.00	00 3,750 s.f @ 2.50=9,375.	\$9,375	5 \$27.65	5 \$167
LN0000047	CREVE COEUR AIRPORT IMPROVEMENT CORP	JOINT VENTURES (LESSEE)		2003 CR, concrete pad in; hangar not built. 4,124 for runways (20,619 x .2) & 1,353 for terminal (3,382 x .2) = 5,477	\$5,477	7 \$138.16		6 Water benefits only. 2,500 s.f @ 1.25=3,125.	\$3,125	\$49.12	12 3,750 s.f @ 2.50=9,375.	\$9,375	5 \$27.65	5 \$24
LN0000048	CREVE COEUR AIRPORT IMPROVEMENT CORP	JOINT VENTURES (LESSEE)	0.220	0 2003 CR, 9,600 sf x \$25 x (1-age/40 (.60)) x .4) \$57,600	0 \$1,453.02		1 Water benefits only. 9,600 s.f @ 1.25=12,000.	\$12,000	\$188.63	53 9,600 s.f @ 2.50=24,000.	\$24,000	0 \$70.80	0 \$2,0
LN0000049	CREVE COEUR AIRPORT IMPROVEMENT CORP	JOINT VENTURES (LESSEE)	0.220	0 2003 CR, 9,600 sf x \$25 x (1-age/40 (.85)) x .4) \$81,600	0 \$2,058.45		0 Water benefits only. 9,600 s.f @ 1.25=12,000.	\$12,000	\$188.63	53 9,600 s.f @ 2.50=24,000.	\$24,000	0 \$70.80	0 \$2,7
LN0000050	CREVE COEUR AIRPORT IMPROVEMENT CORP	JOINT VENTURES (LESSEE)	0.220	10 2003 CR, 9,600 sf x \$25 x (1-age/40 (.95)) x .4) \$91,200	0 \$2,300.62		2 Water benefits only. 9,600 s.f @ 1.25=12,000.	\$12,000	\$188.63	53 9,600 s.f @ 2.50=24,000.	\$24,000	0 \$70.80	0 \$3,1
LN0000051	CREVE COEUR AIRPORT IMPROVEMENT CORP	CCAIC	0.110	0 2003 CR, 4,800 sf x \$25 x (1-age/40 (.875)) x .4 = 42,000 plus 4,124 for runways (20,619 x .2) & 1,353 for terminal (3,382 x .4) = 47,477	\$47,477	7 \$1,197.66		5 Water benefits only. 4,800 s.f @ 1.25=6,000.	\$6,000	\$94.31	31 4,800 s.f @ 2.50=12,000.	\$12,000	0 \$35.40	0 \$1,
LN0000052	CREVE COEUR AIRPORT IMPROVEMENT CORP	STIX, ALBERT (LESSEE)	0.110	0 2003 CR, 4,800 sf x \$25 x (1-age/40 (.875)) x .4 = 42,000 plus 4,124 for runways (20,619 x .2) & 1,353 for terminal (3,382 x .4) = 47,477	\$47,477	7 \$1,197.66		5 Water benefits only. 4,800 s.f @ 1.25=6,000.	\$6,000	\$94.31	31 4,800 s.f @ 2.50=12,000.	\$12,000	0 \$35.40	0 \$1,
LN0000053	CREVE COEUR AIRPORT IMPROVEMENT CORP	CCAIC	0.110	0 2003 CR, 4,800 sf x \$25 x (1-age/40 (.875)) x .4 = 42,000 plus 4,124 for runways (20,619 x .2) & 1,353 for terminal (3,382 x .4) = 47,477	\$47,477	7 \$1,197.66		5 Water benefits only. 4,800 s.f @ 1.25=6,000.	\$6,000	\$94.31	31 4,800 s.f @ 2.50=12,000.	\$12,000	0 \$35.40	0 \$1
LN0000054	CREVE COEUR AIRPORT IMPROVEMENT CORP	CCAIC	0.110	0 2003 CR, 4,800 sf x \$25 x (1-age/40 (-9)) x .4 = 43,200 plus 4,124 for runways (20,619 x. 2) & 1,353 for terminal (3,382 x. 4) = 48,677		7 \$1,227.93		9 Water benefits only. 4,800 s.f @ 1.25=6,000.	\$6,000	\$94.31	31 4,800 s.f @ 2.50=12,000.	\$12,000	0 \$35.40	0 \$1
LN0000055	CREVE COEUR AIRPORT IMPROVEMENT CORP	EDWARDS, JEFF & SHIRLEY (LESSEES)	0.130	0 2003 CR, 5,700 sf x \$25 x (1-age/40 (-9)) x .4 = 51,300 plus 4,124 for runways (20,619 x. 2) & 1,353 for terminal (3,382 x. 4) = 56,777		7 \$1,432.26		9 Water benefits only. 5,700 s.f @ 1.25=7,125.	\$7,125	\$112.00	00 5,700 s.f @ 2.50=14,250.	\$14,250	0 \$42.03	3 \$1
LN0000056	CREVE COEUR AIRPORT IMPROVEMENT CORP	HEIZER, CHARLIE (LESSEE)	0.110	0 2003 CR, 4,800 sf x \$25 x (1-age/40 (.9)) x .4 = 43,200 plus 4,124 for runways (20,619 x .2) & 1,353 for terminal (3,382 x .4) = 48,677		\$1,227.93		9 Water benefits only. 4,800 s.f @ 1.25=6,000.	\$6,000	\$94.31	31 4,800 s.f @ 2.50=12,000.	\$12,000	0 \$35.40	0 \$1

	HOWARD BEND LEVEE DISTRICT		'	'			 '	'	·		'	'	
	2020 LEVEE TAX BOOK (LOCATOR #)	4	'	'			'	'	'		'	'	
		'	′	<u> </u>	'		′	<u> </u>	<u> </u>		<u> </u>	0.002949	
LOCATOR #	PROPERTY OWNER	c/o	2020 Acres Assessed	es Levee Assessment Commissioners Notes	s 2020 Levee Assessed Benefits	Installment	2007 Sewer & Water Commissioners Notes x		2020 Sewer & Water Installment Assessmenet	2013 Storm Water Commissioners Notes		2020 Storm p Water Pump Station Installment Assessment	
LN0000057	CREVE COEUR AIRPORT IMPROVEMENT CORP	CCAIC		0 2003 CR, 5,700 sf x \$25 x (1-age,40 (.925)) x .4 = 52,725 plus 4,124 for runways (20,619 x .2) & 1,353 for terminal (3,382 x .4) = 58,202	\$58,202	2 \$1,468.21	9 Water benefits only. 5,700 s.f @ 1.25=7,125.	\$7,125		0 5,700 s.f @ 2.50=14,250.	\$14,250	0 \$42.03	3 \$1,949.13
LN0000215	CREVE COEUR AIRPORT IMPROVEMENT CORP	ANDERSON, WALLACE (LESSEE)		0 2003 CR, 2,500 sf x \$25 x (1-age/40 (.65)) x. 4 = 16,250 plus 4,124 for runways (20,619 x. 2) & 1,353 for terminal (3,382 x. 4) = 21,727		7 \$548.09	3 Water benefits only. 2,500 s.f @ 1.25=3,125.	\$3,125		2 2,500 s.f @ 2.50=6,250.	\$6,250	0 \$18.44	4 \$737.68
LN2003007	CREVE COEUR AIRPORT IMPROVEMENT CORP	KERNER, FRANK & CAROL (LESSEES)		0 2003 CR, 2,500 sf x \$25 x (1-age/40 (.65)) x. 4 = 16,250 plus 4,124 for runways (20,619 x.2) & 1,353 for terminal (3,382 x.4) = 21,727		7 \$548.09	3 Water benefits only. 2,500 s.f @ 1.25=3,125.	\$3,125		1 2,500 s.f @ 2.50=6,250.	\$6,250	0 \$17.59	9 \$736.92